#### 13. Recommendations of the Superintendent of Schools

(at this time the Board will take formal action on the following items)

#### A. PERSONNEL

#### 1. Resignation - Certificated Staff

Move to accept the resignation of Sean Powers, Supervisor of Math and Instructional Technology effective June 30, 2018.

#### 2. Resignation - Certificated Staff

Move to accept the resignation of Ann Dooley, Industrial Arts/Technology Education Teacher at Edgar Middle School effective June 30, 2018.

# 3. Resignation - Non-Certificated Staff

Move to accept the resignation of Theresa Nemeth, Administrative Assistant to the Superintendent effective July 31, 2018.

# 4. Family Medical Leave of Absence/Maternity Leave of Absence – Certificated Staff

Move to approve a family medical leave of absence/maternity leave of absence for Melissa Harley, English Teacher at Edgar Middle School from on or about October 15, 2018 through March 31, 2019.

## 5. Appointment – Substitute Custodian

Move to approve the following substitute custodian for the 2017-2018 school year:

Name	Position	Pay Rate
Adrian Saltos	Substitute Custodian	\$12.00/hr.

# 6. Appointment – Substitute Bus Aide

Move to approve the following substitute bus aide for the 2017-2018 school year:

Name	Position	Pay Rate
Synthia Delgado	Substitute Bus Aide	\$12.64/hr.

#### 7. Transfer - Certificated Staff

Move to approve the following building transfer for the 2018-2019 school year:

Name	Position	From	To
Sandy Vorensky	Math Teacher	EMS	EMS/CES

# 8. Reappointment – Non-tenured Administrator

Move to approve the reappointment of the following non-tenured Central Office Administrator for the 2018-2019 school year effective July 1, 2018 through June 30, 2019 at the annual salary as follows: (Agenda 5/8/18, Section 13, A3)

Name	Position	Salary
Tania Herzog	Director of Special Services	\$138,685

## 9. Reappointment - Tenured Principals/Assistant Principals

Move to approve the reappointment of the following tenured principals for the 2018 – 2019 school year effective July 1, 2018 through June 30, 2019 at an annual salary as follows:

Name	Position	Salary
Bruce Peragallo	Principal	\$146,451
Susan LaFauci	Assistant Principal	\$118,551
Edward Porowski	Principal	\$132,930
Brooke Kirschner	Assistant Principal	\$117,645

# 10. Reappointment - Supervisory Staff

Move to approve the reappointment of the following tenured supervisors for the 2018 - 2019 school year effective July 1, 2018 through June 30, 2019 at an annual salary as follows:

Name	Position	Salary
John Cathcart	Supervisor of Health and Physical	\$140,424
	Education/Athletic Director	
Kathleen Henn	Supervisor of Science/Gifted &	\$114,404
	Talented/Practical Arts	
Christine DeSimone	Supervisor of Fine & Performing Arts &	\$110,790
	World Language	

# 11. Reappointment - Tenured Teachers

Move to approve the reappointment of the following as tenured teachers for the 2018 – 2019 school year as shown on the attached list:

#### 12. Reappointment of Supervisor of Buildings and Grounds

Move to approve the reappointment of Gerard Redmond as Supervisor of Buildings and Grounds for the 2018 – 2019 school year effective July 1, 2018 through June 30, 2019 at the salary of \$103,615/year.

# 13. Reappointment - Technology Staff

Move to approve the reappointment of the following as technology staff for the 2018 – 2019 school year effective July 1, 2018 through June 30, 2019 at an annual salary as follows:

Name	Position	Salary
Christopher Thumann	District Technology Coordinator	\$102,670
Jeffrey Ruhnke	Network Administrator	\$68,001
Marcos Elias-Ortiz	Help Desk Technician	\$49,829
David Ho	Technology Assistant	\$20.74/hr.
Andres Elias-Ortiz	Summer Help Desk	\$10/hr.

#### 14. Reappointment - Central Office Staff

Move to approve the reappointment of the following central office support staff for the 2018 – 2019 school year effective July 1, 2018 through June 30, 2019 at an annual salary as follows:

Superintendent's Office		
Name	Position	Salary
Theresa Nemeth	Administrative Assistant to the	\$51,845
	Superintendent	
Barbara Zaneto	Personnel Coordinator	\$63,008
Curriculum Office		
Amy Opitz	Secretary	\$46,661
Special Services		
Alexandria Corrado	Confidential Secretary	\$43,006
Adele Rackley	Part-time Secretary	\$24,263
	(½ time @ EMS and ½ time Sp. Svcs.)	

# 15. Reappointment - Business Office Support Staff

Move to approve the reappointment of the following business office support staff for the 2018 - 2019 school year effective July 1, 2018 through June 30, 2019 at an annual salary as follows:

Business Office		
Name	Position	Salary
Debbie Finden	Administrative Assistant to the Business Administrator/Board	\$57,705
	Secretary	
Sheila Donohue	Payroll Coordinator	\$68,631
Tracey Orcutt	Accounts Payable Coordinator	\$61,785
Lisa Cook	Transportation Coordinator	\$55,763
Maryann Simms	Business/Benefits/Facilities	\$46,661

# 16. Reappointment - School Secretaries

Move to approve the reappointment of the following school secretaries for the 2018 – 2019 school year effective July 1, 2018 through June 30, 2019 at an annual salary as follows:

Metuchen High School		
Name	Salary	
Kathy Mallory	\$49,743	
Mary Miranowic	\$49,743	
Charlene Nicholls	\$49,743	
Teresa Coleman	\$42,230	
Maureen Azzara (part-time 10 months)**	\$22,018	
Edgar Middle School		
Teresa Brown-Zeng	\$42,230	
Jo Ann Rice	\$49,743	
Adele Rackley (½ time @ EMS & ½ time Sp. Svcs.)**	\$24,176	
Campbell Elementary School		
Laura Chiusano	\$46,237	
Pamela Hatzelhoffer	\$41,385	
Katherine Eosso (part-time 10 months)**	\$24,634	
Moss School		
Patricia Hallas	\$42,230	

<sup>\*\*</sup>Part-time secretaries may be used as substitute secretaries at their hourly rate.

# 17. Reappointment - Substitute Secretaries

Move to approve the reappointment of the following substitute secretaries for the 2018 – 2019 school year:

Name	Hourly Rate
Joanne Ouellet	\$13.90
Linda Koskoski	\$13.47
Amy Jeney	\$13.47
Judy Kurabinski	\$13.90
Olga Miskovich	\$13.47
Angela Sielski	\$13.07
Lucy Ann MacDonald	\$13.47
Lisa Campbell	\$13.47
Donna Ohlson	\$13.47

#### 18. Reappointment - Substitute School Nurse

Move to approve the reappointment of Deborah Poandl as substitute school nurse for the 2018 – 2019 year at the rate of \$25\*/hr.

# 19. Stipend

Move to approve the stipend of \$772 (pro-rated) for Raul Morales, Custodian as a result of obtaining his Boiler Operator's License effective February 16, 2018.

#### 20. Appointment - Substitute Custodians

Move to approve the appointment of the following as substitute custodians for the 2018 – 2019 school year:

Name	Hourly Rate
Carlixta Azcona	\$12.32
Thomas Bilgrav	\$12.32
Maritza Nunez	\$12.32
Lorena Sevilla	\$12.32
Adrian Saltos	\$12.32

#### 21. Appointment - Custodial/Maintenance Staff

Move to approve the appointment of the following custodial staff for the 2018 – 2019 school year effective July 1, 2018 through June 30, 2019 at an annual salary as follows:

Name	Salary
Alijewicz, Jonathan	\$39,272
Arvizu, Veronica	\$36,272
Asiain, Lorenzo (Head Night Custodian)	\$40,560
Colegrove, Darren	\$38,772
Comtess, Chris	\$39,272
Cooper, Mark (Head Night Custodian)	\$42,137
Hansen, Hans	\$64,690
Heline, Bruce (Head Custodian)	\$68,206
Horincewich, David	\$50,890
Jean Gilles, Jean Robert	\$44,544
Jean Gilles, Magdelene	\$36,500

Jerscheid, Paxton	\$43,772
Kosciusko, Leonard (Head Custodian)	\$68,206
Lesniak, Chad (Head Custodian)	\$47,137
Luna, Juan	\$37,272
Butler, Paula	\$63,918
Morales, Raul	\$34,772
Moreno, Angela (Head Custodian)	\$40,137
Naughton, Noel	\$36,272
Nunez, Marisol	\$36,272
Pena, Avellaneda	\$43,772
Ramos, Carlos (Head Night Custodian)	\$46,560
Reyes, Horacio	\$38,772
Saccente, Elizabeth	\$36,772
Uhrlass, Mulyanti	\$43,772
Weir, William	\$45,772

# 22. Reappointment - Bus Drivers/Substitutes/Part-time Bus Drivers

Move to approve the reappointment of the following as bus drivers for the 2018 – 2019 school year:

Name	Position	Hourly Rate
Anna Szwast	Driver	\$24.24
Marian Szwast	Driver	\$22.51
Roy Plummer	Driver	\$20.19
Angelina Delgado	Driver	\$21.93
Kenneth Ritter	Driver	\$21.93
Ed Wetzel	Driver	\$21.35
Carolyn Koch	Substitute Driver/Trainer	\$24.24
Kevin Miller	Substitute Driver	\$22.51
Jean Jean-Gilles	Substitute Driver	\$21.42

#### 23. Reappointment - Bus Aides/Lunch Aides

Move to approve the reappointment of the following as bus aides/lunch aides for the 2018 – 2019 school year:

Bus Aides			
Name	Hourly Rate		
Gail Bailey	\$14.15		
Aureli Ramos	\$13.37		
Linda Rhodes	\$22.90		
Lucy Ann MacDonald (Substitute)	\$12.98		
Synthia Delgado (Substitute)	\$12.98		
Lunch Aides			
Joan DiFino	\$14.15		

# 24. Reappointment - Substitute Caller

Move to approve the reappointment of Judy Kurabinski as substitute caller (substitute teacher coverage coordinator) for the 2018 – 2019 school year effective August 29, 2018 at an annual salary of \$16,746.

#### 25. Ticket Sales

Move to approve the following ticket sales positions for the 2018-2019 school year:

Position	MHS Football Games (per game)	MHS Basketball Games (per game)
Cash Box	\$78	\$67
Ticket Sellers	\$55	\$50
Security	\$50	\$45
Camera	\$22	\$22
Site Supervisor	\$50	\$50
Edgar Basketball Supervisor	N/A	\$50

# 26. Coaches - Edgar Middle School Fall 2018

Move to approve the following Edgar Middle School coaches for the fall 2018 school sports season:

Sport	Coach	Position	Stipend
Boys' Soccer	Mike Butler	Coach	\$3,285
Girls' Soccer	Kristen Kuhlthau	Coach	\$3,285
Field Hockey	Margo Banner	Coach	\$3,285
Cross Country	Veronica Araneo	Coach	\$3,285
Cross Country	Ed Ronk	Coach	\$3,285

# 27. Coaches - Edgar Middle School Winter 2018

Move to approve the following Edgar Middle School coaches for the winter 2018 school sports season:

Sport	Coach	Position	Stipend
Boys' Basketball	Ed Albanese	Coach	\$3,285
Girls' Basketball	Emily Mertz	Coach	\$3,285
Edgar Swimming	Karen Logan	Coach	\$3,285

#### 28. Coaches - Edgar Middle School Spring 2019

Move to approve the following Edgar Middle School coaches for the spring 2019 school sports season:

Sport	Coach	Position	Stipend
Baseball	John Butler	Coach	\$3,285
Softball	Kristen Kuhlthau	Coach	\$3,285
Coed Spring Track	Emily Mertz	Coach	\$3,285
	Ed Ronk	Coach	\$3,285
	Beth McLaughlin	Coach	\$3,285
Tennis	Schuyler Fannell	Coach	\$3,285

# 29. Coaches - Metuchen High School Fall 2018

Move to approve the following Metuchen High School coaches for the fall 2018 school sports season:

Sport	Coach	Position	Step	Stipend
Football	Michael Warnock	Head Coach	2	\$11,187
	Scott Rockhill	1st Assistant Coach	1	\$7,293
	Scott Leitner**	Assistant Coach	1	\$6,949
	Jordan Leitner	Assistant Coach	2	\$7,122
	Ryan Jensen**	Assistant Coach	1	\$6,949
	Guy Jensen**	Volunteer	-	
	Matt Sellitri**	Volunteer	-	
	Ed Angus**	Volunteer	-	
Girls' Cross Country	Kelli Holleran	Head Coach	3	\$7,466
Boys' Cross Country	Martin Holleran	Head Coach	3	\$7,466
Assistant Cross Country	William Schlavis	Assistant Coach	3	\$6,170
Field Hockey	Beth McLaughlin	Head Coach	2	\$8,939
	Katherine McKenna	JV Coach	2	\$6,298
	Joelle Vitale**	Freshman Coach	2	\$5,608
Girls' Tennis	Jim Thomas	Head Coach	3	\$7,122
	Nick Zaneto	Assistant	2	\$4,725
Cheerleading	Sara Yocum**	Head Coach	2	\$3,457
Boys' Soccer	Ed Albanese	Head Coach	3	\$8,939
	Tom Herd**	JV Coach	3	\$6,212
	Schuyler Fannell	Freshman	1	\$5,434
Girls' Soccer	Mike Knoth**	Head Coach	3	\$8,939
	Kerry Glynn**	JV Coach	3	\$6,212

<sup>\*\*</sup>Represents adjunct coaches

# 30. Coaches - Metuchen High School Winter 2018

Move to approve the following Metuchen High School coaches for the winter 2018 school sports season:

Sport	Coach	Position	Step	Stipend
Boys' Winter Track	Martin Holleran	Head Coach	3	\$7,813
Girls' Winter Track	Kelli Holleran	Head Coach	3	\$7,813
Winter Track	Kyle Thomas**	Assistant Coach	3	\$6,170
Girls' Basketball	Kathy Glutz	Head Coach	3	\$9,501
	Lindsay Brown**	JV Coach	2	\$6,471

	Robert Capra**	Volunteer	-	
Boys' Basketball	Guy Jensen**	Head Coach	3	\$9,501
	Brian Tuskan**	JV Coach	3	\$6,646
	Raymond Newman**	Freshman Coach	3	\$6,689
Wrestling	Joseph Keagle	Head Coach	2	\$9,111
	Nicholas Zaneto	JV Coach (shared)	3	\$3,193
	John McDonald	JV Coach (shared)	1	\$3,021
Cheerleading	Sara Yocum**	Head Coach	2	\$3,457
Boys' Swimming	James Thomas	Head Coach	3	\$8,116
Girls' Swimming	James Thomas	Head Coach (75%)	3	\$6,087

<sup>\*\*</sup>Represents adjunct coach

# 31. Coaches - Metuchen High School Spring 2019

Move to approve the following Metuchen High School coaches for the spring 2019 sports season:

Sport	Coach	Position	Step	Stipend
Softball	VACANCY	Head Coach		
	Hannah Thomas**	JV Coach	3	\$6,255
Baseball	Leo Danik**	Head Coach	3	\$9,024
	William Colavito	JV Coach (shared)	3	\$3,128
	John McDonald	JV Coach (shared)	2	\$3,042
	Robert Dougherty**	Freshman Coach	3	\$5,780
	Ken Smith	Volunteer Varsity	-	
Boys' Spring Track	Martin Holleran	Head Coach	3	\$9,024
	Kyle Thomas**	Assistant Coach	3	\$6,170
Girls' Spring Track	Kelli Holleran	Head Coach	3	\$9,024
	William Schlavis	Assistant Coach	3	\$6,170
	Joseph Keagle	Assistant Coach	3	\$6,170
Boys' Tennis	Jim Thomas	Head Coach	3	\$7,122
	Nick Zaneto	JV Coach	3	\$4,843
Golf	Richard Stoner	Head Coach	3	\$6,774
	Frank Ruggerio	Assistant Coach	3	\$4,286

<sup>\*\*</sup>Represents adjunct teacher

# 32. Reappointment - Substitute Athletic Trainers

Move to approve the reappointment of Nicholas Zaneto and Lauren Butler as substitute athletic trainers for the 2018 – 2019 school year (as needed) at the rate of \$45/hr.

## 33. Summer Work - Edgar Middle School

Move to approve the following counselors and teacher for summer work at Edgar Middle School:

Position	Name	Time Period	Rate
Guidance	Lisa Chango	3 days in August	\$535.21day
Guidance	Lauren Campbell	3 days in August	\$297.51/day
Technology	Maryrose Little	3 days in August	\$430.89/day

#### 34. Summer Work - Campbell Elementary School Nurse

Move to approve the following school nurse for summer work at Campbell Elementary School:

School Nurse	# Days	Rate
Jennifer Decker	2	\$325.23/day

#### 35. Summer Work - Guidance Department Metuchen High School

Move to approve the following school counselors for summer work at Metuchen High School:

Counselor	# Days	Per Diem Rate
Leigh Hanbridge	5	\$441.15/day
Elizabeth DeMott	5	\$359.09/day
Traci Grauer	5	\$508.70/day
Judi Cheung	3	\$548.77/day

#### 36. Summer Work - Metuchen High School Peer Leadership

Move to approve the following peer leadership trainers for summer work at Metuchen High School:

Name	# Day	Per Diem Rate
Laura Connolly	2	\$359.09/day
Chris Giddes	2	\$296.58/day

#### 37. Summer Work - Metuchen High School Technology

Move to approve the following teacher to provide technology support during the summer at Metuchen High School:

Name	# Days	Per Diem Rate
Patricia Glave	5	\$508.70/day

#### 38. Summer Work - Metuchen High School Weight Room Supervisors

Move to approve the following as summer weight room supervisors at the rate of \$25.00/hr. as needed:

Scott Rockhill	Lauren Butler	Mike Knoth**
Michele McCorkle	John McDonald	Nick Zaneto
Bob Ulmer	Guy Jensen**	Mike Warnock

<sup>\*\*</sup>not a member of district staff

# 39. Metuchen Summer Institute High School Programs

Move to approve the following teachers for additional guidance and support to students preparing for college admissions, the application process and algebra courses:

Instructor	Topic	Stipend/Session or Hourly (# of sessions determined by enrollment)
Lauren Volosin	Writing the College Facer	
Lauren volosin	Writing the College Essay	\$1,000 per session
Diane Kuenzel	Writing the College Essay	\$1,000 per session
Eileen Wagenblast	Writing the College Essay	\$1,000 per session
Jonathan Stevens	SAT Prep Course	\$1,500 per session
Jane Harmon	SAT Prep Course	\$1,500 per session
Elizabeth DeMott	Tackling the Common	\$59.85/hr. maximum 2.5 hours
	Application	·
Janis Lewandowski	Algebra 1 Prep	\$86.44/hr. maximum 10 hours
Sherry Lifson	Algebra 1 Prep	\$85.89/hr. maximum 10 hours
Janis Lewandowski	Algebra 2 Prep	\$86.44/hr. maximum 10 hours
Sherry Lifson	Algebra 2 Prep	\$85.89/hr. maximum 10 hours

# 40. Metuchen Summer Institute - AP Edge: Pre-AP Preparation

Move to approve the following teachers for pre-advanced placement instruction in support of students, MHS Summer 2018:

Instructor	Subject	Stipend/Session (# of sessions determined by enrollment)
Eileen Wagenblast	AP Language & Composition	\$2,000
Adam Levy	AP Literature & Composition	\$1,000
Chris Giddes	AP US History: Part I	\$2,000
William Schlavis	AP US History: Part II	\$1,000
Jim Thomas	AP Statistics	\$1,000
Martin Holleran	AP Biology	\$1,000
Joseph Keagle	AP Phys.ics I	\$1,000
Kathleen McKeown	AP Art History	\$1,000
Kathleen McKeown	AP Studio Art	\$1,000
Jonathan Stevens	AP Edge Calculus AB/BC	\$1,000

#### 41. Summer Band Camp

Move to approve the following staff to attend Summer Bank Camp August 6-10, 2018:

Position	Name	Stipend
Marching Band Director	John Messenger	Part of 2017-2018
Assistant Marching	John Flynn	stipend as per MEA
Band Director	-	agreement
Color Guard Director	Debbie Yaniga	
Guard Instructor	Dylan Fernandes	
Marching Band	Jason Gomez	
Percussion Instructor		
Percussion Assistant	Robert Lazenberry	Volunteer

# 42. Extended School Year Staff - Special Services

Move to approve the following as staff for the 2018 Extended School Year Program:

**In-District Teachers Extended School Year 2018** 

Name	Program	Per Diem	# of Days	Total
Katie McKenna	Preschool Teacher	\$283.34	24	\$6,800.16
Julie Anderson	Preschool Teacher & Grade 2	\$516.19	24	\$12,388.56
Alaina Warakomski	Elementary (3-5)	\$325.23	24	\$7,805.52
Brittany Okoszko	Special Class (1-4)	\$296.58	24	\$7,117.92
Sarah Karger	MILE	\$414.12	24	\$9,938.88
Beth McLaughlin	Math	\$289.56	18	\$5,212.08
Marilyn Lewis	Reading	\$525.02	18	\$9,450.36
Kathy Rice	Special Class (5-8)	\$430.89	24	\$10,341.36
Elissa Cadel	Elementary (K-1)	\$307.39	24	\$7,377.36
Cynthia Linkenheld	Special Class (9- 12)	\$349.63	24	\$8,391.12
Janice Billik	School Nurse	\$493.93	24	\$11,854.32

Total: \$96,677.64

# Related Services In-District Extended School Year 2018

		Per	Per	# of	# of	
Name	Program	Diem*	Hour	Hours	Days	Total
Tiny Tots, Inc	ESY O.T.		\$75	60		\$4,500.00
Lori-Anne DiSerio	ESY P.T.		\$88	33		\$2,904.00
Puzzle Solutions	ESY BCBA		\$82	40		\$3,280.00
Laurie Walker	ESY Speech	\$520.32			12	\$6,243.84
Emily Walsh	ESY Speech	\$322.76			18	\$5,809.68

Total: \$22,737.52

# Paraprofessionals Extended School Year 2018

Name	Program	Per Hour	# of Hours	Total
Hope Seratelli	Para-Professional ESY	\$20.25	108	\$2,187.00
Jessica Kovacs	Para-Professional ESY/MIPP (.5)	\$18.45	108	\$1,992.60
Mary Jo Paulmenn	Para-Professional ESY	\$19.05	108	\$2,057.40
Jeana Torzilli	Para-Professional ESY/MIPP (.5)	\$18.45	108	\$1,992.60
Jennifer Lesniak	Para Professional ESY	\$18.45	108	\$1,992.60
Raquel Class	Para-Professional ESY/MIPP (.5)	\$18.45	108	\$1,992.60
Roxy Aggarwal	Para-Professional ESY	\$18.45	108	\$1,992.60
Judi Hoffman	Para Professional ESY	\$18.75	108	\$2,025.00
Kelly Vissichelli	Para-Professional ESY	\$18.45	108	\$1,992.60
Danielle Mauro	Para-Professional ESY/MIPP (.5)	\$18.45	108	\$1,992.60
Roseanne Fisher	Para-Professional ESY	\$18.45	108	\$1,992.60
Farhana Khan	Para-Professional ESY/MIPP (.5)	\$18.45	108	\$1,992.60
Joseph DeMeglio	Para-Professional ESY	\$18.45	108	\$1,992.60
Lisa Amend	Para-Professional ESY-MIPP	\$18.45	108	\$1,992.60
Sijo George	Para-Professional ESY-MIPP	\$17.85	108	\$1,927.80
Heather Olson	Para-Professional ESY	\$18.15	108	\$1,960.20
Elizabeth Linthhurst	Para-Professional ESY	\$18.45	108	\$1,992.60
Rebecca DiSerio	Para-Professional ESY-MIPP	\$13.00	108	\$1,404.00

Total: \$35,472.60

# Substitute Teachers/Paraprofessionals (As needed) Extended School Year 2018

Name	Program	Per Diem	Per Hour
Tara Tay	Substitute Teacher	\$90	
Danielle Weitzner	Substitute Teacher	\$90	
Eileen Kuchar	Substitute Teacher	\$90	
Samanta Jackson	Substitute Teacher	\$80	
Jennifer Pasquale	Substitute Teacher	\$90	
Kelsee Young	Substitute Teacher	\$80	
Allison Sullivan	Substitute Teacher	\$90	
Farhana Omarzi	Substitute Paraprofessional		\$18.45
Tara Tay	Substitute Paraprofessional		\$18.45
Jennifer Pasquale	Substitute Paraprofessional		\$13.00
Roxy Aggarwal	Substitute Paraprofessional		\$18.45
Gail Zelley	Substitute Paraprofessional		\$18.45
Kelsee Young	Substitute Paraprofessional		\$13.00
Amy Artman	Substitute Paraprofessional		\$18.75
Jordan Leitner	Substitute Paraprofessional		\$18.45
Michael Molfetto	Substitute Paraprofessional		\$13.00

# Child Study Team Extended School Year 2018

Name	Position	Per Diem Rate	# of Days	Total
Alissa Trapanese	Psychologist	\$414.12	14	\$5,797.68
Christina Theiss	Psychologist	\$441.05	14	\$6,176.10
Karen Calantoni	Learning Consultant	\$304.03	14	\$4,256.42
Christine Cuthbertson	Learning Consultant	\$508.70	14	\$7,121.80
Deneane Bonassisa	Learning Consultant	\$467.97	14	\$6,551.58
Karla Riera	Learning Consultant	\$451.41	14	\$6,319.74
Lisa Granados	Social Worker	\$414.12	14	\$5,797.68
NEW	Social Worker	\$350.00*	9	\$3,150.00

Total: \$45,171.00 \*Dependent upon new hire contract

# 43. Summer Reading Instruction 2018

Move to approve Julie Anderson to provide reading instruction at \$45/hour for 9 hours over the summer.

#### 44. Summer ABA Services 2018

Move to approve Katie McKenna to provide ABA services at \$45/hour for 8 hours over the summer.

#### 45. Summer Social Worker 2018

Move to approve Evette Collier, Social Worker to complete evaluations, case management and other child study team responsibilities at \$530.39/per diem for 5 days from June 22, 2018 – June 29, 2018.

#### 46. Co-Teaching Workshop

Move to approve the following staff to participate in the Co-Teaching Workshop on June 28, 2018, at the rate of \$36/hour for 6 hours from the 2018 Title I funds:

School	Co-Teaching – June 28	Total Amount
MHS	Sarah Karger	\$216
MHS	Laura Connolly	\$216
MHS	Virginia Hixson	\$216

#### 47. Curriculum Writing Summer 2018

Move to approve the following curriculum, writing documents, writers and amounts for Summer 2018:

DEPARTMENT	COURSE TITLE	Written by:	Amount
Social Studies	World Studies	Laura Connolly & Kerry Blaze	\$650 each
Math	Algebra 1	Virginia Hixson	\$1,000
Math	Plane Geometry	Sherry Lifson	\$1,000
Math	Grade 2	Melissa Saverese, Jennifer Spak, Megan Shapiro, Lisa Levin	\$525 each
Math	Grade 1	Deanna Kindler & Candace Evans	\$650 each
Math	Pre-Algebra	Shannon Connors	\$1,000
Technology	Computer Science, K-4	Roseann Misuraca, Joe Fitzgibbon, Emily Presuto	\$525 each
Technology	Computer Science, 5-8	Roseann Misuraca, Joe Fitzgibbon, Emily Presuto	\$525 each
World Lang	AP Spanish Lang. & Cult	Karin Flores	\$1,000
Fine Arts	Photography	Margo Banner	\$1,000
Phys. Ed & Health	9th Grade	Beth Abbott & Schuyler Fannell	\$650 each
Phys. Ed & Health	10th Grade	Val Gazda & Schuyler Fannell	\$650 each
Phys. Ed & Health	11th Grade	Nick Zaneto & Lauren Butler	\$650 each
Phys. Ed & Health	12th Grade	Bob Ulmer & Lauren Butler	\$650 each
Phys. Ed & Health	5th Grade	Melanie Gilbert & Lauren Butler	\$650 each
Phys. Ed & Health	6th Grade	Rick Carter & Michelle McCorkle	\$650 each
Phys. Ed & Health	7th Grade	Kristen Kuhlthau & Lauren Butler	\$650 each
Phys. Ed & Health	8th Grade	Melanie Gilbert & Michelle McCorkle	\$650 each
Science	Grade 2 Science	Lisa Levin & Jenn Spak	\$650 each
Science	Grade 5 Science	Jen Miller, Vivian Petrakakos, Rachel DiVanno	\$525 each
Science	Grade 3 Science Lab	Jon Nolde	\$350
Science	Grade 4 Science Lab	Jon Nolde	\$350

Science	Chemistry	Ann Lezama	\$1,000
Science	Honors Health Science	Yoko Kato	\$1,000
Science	Physics	Barbara Zeman	\$1,000
Practical Arts	Entrepreneurship	Karen Van de Castle	\$1,000
Practical Arts	Business Information Mgt.	Karen Van de Castle	\$500
Practical Arts	Digital Marketing	Karen Van de Castle	\$500